

SUM OF PICTURE FUZZY IDEALS OF Γ-NEAR RINGS

R. HEMA*, D. ANITHA ALIAS PONNAMMAL AND S. ANJAL MOSE

ABSTRACT. In the present paper we introduce the concept on sum of picture fuzzy ideals of a Γ -near ring and the direct sum of picture fuzzy ideals of a Γ -near ring and investigated several properties. Also, we have discussed their relations of sum and direct sum of picture fuzzy ideals of a Γ -near ring.

AMS Mathematics Subject Classification : 03E72, 08A72, 16Y30. Key words and phrases : Γ -near ring, sum of picture fuzzy Γ -ideals, direct sum of picture fuzzy Γ -ideals.

1. Introduction

In 1965, Zadeh [11] has initiated the notion of fuzzy set. Then many researchers were applying it in various branches of Mathematics. The algebraic system Γ -near ring was introduced by Satyanarayana [9]. Later several mathematicians like [1, 2, 5, 6] worked on this algebraic system. The notion of an anti fuzzy ideals of Γ -near-ring was studied by Srinivas et. al., [10]. Kim and Jun [4] has studied the concept of an anti fuzzy ideals in near-rings. The sum of the fuzzy ideals of a near-ring was studied by Narasimha Swamy [7]. Now we are introducing the sum of picture fuzzy ideals of a Γ -near-ring and also the sum of anti picture fuzzy ideals of a Γ -near-ring. Also studied the concept of direct sum in both cases.

2. Preliminaries

A non-empty set N with two binary operations "+" and "·" is said to be a left near-ring, if it satisfies the following three conditions; (i) (N,+) is a group (not necessarily abelian), (ii) (N,\cdot) is a semigroup, (iii) $l\cdot(m+z)=x\cdot m+l\cdot z$ for all $l,m,z\in N$. We will use the word "near-ring" to mean "left near-ring". We

Received June 7, 2023. Revised February 26, 2024. Accepted July 31, 2024. * Corresponding author.

^{© 2024} KSCAM.

denote lm instead of $l \cdot m$. Moreover, a near-ring N is said to be a zero-symmetric if $0 \cdot n = 0$ for all $n \in N$, where 0 is the additive identity in N.

Definition 2.1. [9] Let M be a Γ -near ring (briefly, ΓNR). A normal subgroup (I,+) of $(M,+,\Gamma)$ is called

- (i) a right ideal, if $(l+i)\alpha m l\alpha m \in I$ for all $l, m \in M$, $\alpha \in \Gamma$, $i \in I$,
- (ii) a left ideal, if $l\alpha i \in I$ for all $l \in M$, $\alpha \in \Gamma$, $i \in I$,
- (iii) an ideal, if it is both a left ideal and a right ideal.

Definition 2.2. [9] A Γ -near ring M is said to be a zero symmetric Γ -near ring if $0\alpha n = 0$ for every $n \in M$, $\alpha \in \Gamma$, where 0 is the additive identity in M.

A fuzzy set B_{ζ} on a non-empty A is a mapping $B_{\zeta}: A \to [0,1]$.

Definition 2.3. [3] A fuzzy set B_{ζ} of a Γ -near ring M is called a fuzzy ideal (briefly, FI) of M if

- (i) $B_{\zeta}(l-m) \geq \min\{B_{\zeta}(l), B_{\zeta}(m)\},$
- (ii) $B_{\zeta}(m+l-m) \geq B_{\zeta}(l)$,
- (iii) $B_{\zeta}((l+i)\alpha m l\alpha m) \geq B_{\zeta}(i)$ (or equivalently, $B_{\zeta}(z\alpha m l\alpha m) \geq B_{\zeta}(z-l)$),
- (iv) $B_{\zeta}(l\alpha m) \geq B_{\zeta}(m)$ for all $l, m, z, i \in M$ and $\alpha \in \Gamma$. If B_{ζ} satisfies (i), (ii) and (iii) then B_{ζ} is called a fuzzy right ideal of M. If B_{ζ} satisfies (i), (ii) and (iv) then B_{ζ} is called a fuzzy left ideal of M.

Definition 2.4. [8] Let B_{ζ} and B_{η} be two fuzzy ideals of a zero symmetric Γ-near ring M. Then the sum $B_{\zeta} + B_{\eta}$ is a fuzzy subset of M defined by

$$(B_{\zeta} + B_{\eta})(l) = \begin{cases} sup(\min(B_{\zeta}(m) \ B_{\eta}(z))) : l = m + z \\ 0 : \text{ otherwise,} \end{cases}$$

3. Sum and direct sum of picture fuzzy ideals

Definition 3.1. A PFS ζ in a ΓNR M is called a picture fuzzy Γ near ring (briefly, $PF\Gamma NR$) of M if

- (i) $B_{\zeta}(l-m) \geq \min(B_{\zeta}(l), B_{\zeta}(m)), A_{\zeta}(l-m) \leq \max(A_{\zeta}(l), A_{\zeta}(m)), F_{\zeta}(l-m)$ $(m) \leq \max(F_{\zeta}(l), F_{\zeta}(m)).$
- (ii) $B_{\zeta}(l\alpha m) \geq B_{\zeta}(m), A_{\zeta}(l\alpha m) \leq A_{\zeta}(m), F_{\zeta}(l\alpha m) \leq F_{\zeta}(m).$

Definition 3.2. Let $(M, +, \Gamma)$ or simply M be a ΓNR . A PFS ζ in a ΓNR M is called a picture fuzzy Γ ideal (briefly, $PF\Gamma I$) of M if

- (i) $B_{\zeta}(l-m) \geq min(B_{\zeta}(l), B_{\zeta}(m)), A_{\zeta}(l-m) \leq max(A_{\zeta}(l), A_{\zeta}(m))$ and $F_{\zeta}(l-m) \leq \max(F_{\zeta}(l), F_{\zeta}(m)).$
- (ii) $B_{\zeta}(m+l-m) \geq B_{\zeta}(l), A_{\zeta}(m+l-m) \leq A_{\zeta}(l) \text{ and } F_{\zeta}(m+l-m) \leq F_{\zeta}(l).$ (iii) $B_{\zeta}((l+i)\alpha m l\alpha m) \geq B_{\zeta}(i), A_{\zeta}((l+i)\alpha m l\alpha m) \leq A_{\zeta}(i) \text{ and } F_{\zeta}((l+i)\alpha m l\alpha m) \leq A_{\zeta}(i)$ $i(\alpha m - l\alpha m) \le F_{\zeta}(i).$
- (iv) $B_{\zeta}(l\alpha m) \geq B_{\zeta}(m)$, $A_{\zeta}(l\alpha m) \leq A_{\zeta}(m)$ and $F_{\zeta}(l\alpha m) \leq F_{\zeta}(m)$.

A picture fuzzy subset with the above conditions (i)-(iii) is called a picture fuzzy Γ right ideal of M, whereas a picture fuzzy subset with (i), (ii) and (iv)is called a picture fuzzy Γ left ideal of M.

Definition 3.3. Let ζ and η are two picture fuzzy ideals of a zero symmetric Γ-near ring M. Then the sum $\zeta + \eta$ is a picture fuzzy set of M defined by,

$$(\zeta + \eta)(l) = \begin{cases} sup(\min(\zeta(m), \eta(z))) : l = m + z \\ 0 : \text{ otherwise.} \end{cases}$$

Theorem 3.4. If ζ and η are two picture fuzzy ideals of a zero symmetric Γ-near ring M, then $\zeta + \eta$ is also an picture fuzzy ideal of M.

Proof. Let
$$l, m, z \in M$$
 and $\alpha \in \Gamma$.

(i) Put
$$l = l_1 + l_2$$
 and $m = m_1 + m_2$ where $l_1, l_2, m_1, m_2 \in M$. Then $l - m = l_1 + l_2 - (m_1 + m_2)$

$$= l_1 - m_1 + m_1 + l_2 - (m_1 + m_2).$$

Now,

$$\begin{split} (B_{\zeta}+B_{\eta})(l-m) &= (B_{\zeta}+B_{\eta})(l_1-m_1+m_1+l_2-m_1-m_2) \\ &= \sup\{\min\{(B_{\zeta}(l_1-m_1),B_{\eta}(m_1+l_2-m_1-m_2))\}\} \\ &\geq \sup\{\min\{\min(B_{\zeta}(l_1),B_{\zeta}(m_1)),\min(B_{\eta}(m_1+l_2-m_1),B_{\eta}(m_2))\}\} \\ &\geq \sup\{\min\{\min(B_{\zeta}(l_1),B_{\zeta}(m_1)),\min(B_{\eta}(l_2),B_{\eta}(m_2))\}\} \\ &\geq \min\{\sup\{\min(B_{\zeta}(l_1),B_{\zeta}(l_2)),\sup(\min(B_{\eta}(m_1),B_{\eta}(m_2)))\}\} \\ &= \min\{(B_{\zeta}+B_{\eta})(l),(B_{\zeta}+B_{\eta})(m)\}. \end{split}$$

$$(A_{\zeta}+A_{\eta})(l-m) = (A_{\zeta}+A_{\eta})(l_{1}-m_{1}+m_{1}+l_{2}-m_{1}-m_{2})$$

$$= \sup\{\min\{(A_{\zeta}(l_{1}-m_{1}),A_{\eta}(m_{1}+l_{2}-m_{1}-m_{2}))\}\}$$

$$\leq \sup\{\min\{\max(A_{\zeta}(l_{1}),A_{\zeta}(m_{1})),\max(A_{\eta}(m_{1}+l_{2}-m_{1}),A_{\eta}(m_{2}))\}\}$$

$$\leq \sup\{\min\{\max(A_{\zeta}(l_{1}),A_{\zeta}(m_{1})),\max(A_{\eta}(l_{2}),A_{\eta}(m_{2}))\}\}$$

$$\leq \max\{\sup\{\min(A_{\zeta}(l_{1}),A_{\zeta}(l_{2})),\sup(\min(A_{\eta}(m_{1}),A_{\eta}(m_{2})))\}\}$$

$$= \max\{(A_{\zeta}+A_{\eta})(l),(A_{\zeta}+A_{\eta})(m)\}.$$

Similarly, $(F_{\zeta} + F_{\eta})(l - m) \le \max\{(F_{\zeta} + F_{\eta})(l), (F_{\zeta} + F_{\eta})(m)\}.$

(ii) Put $l = l_1 + l_2$ where $l_1, l_2 \in M$. Then

$$m+l-m = m+l_1+l_2-m = m+l_1-m+m+l_2-m$$
.

$$(B_{\zeta} + B_{\eta})(m + l - m) = \sup\{\min(B_{\zeta}(m + l_{1} - m), B_{\eta}(m + l_{2} - m))\}$$

$$\geq \sup\{\min\{B_{\zeta}(l_{1}), B_{\eta}(l_{2})\}\}$$

$$= (B_{\zeta} + B_{\eta})(l).$$

$$(A_{\zeta} + A_{\eta})(m + l - m) = \sup\{\min(A_{\zeta}(m + l_1 - m), A_{\eta}(m + l_2 - m))\}$$

$$\leq \sup\{\min(A_{\zeta}(l_1), A_{\eta}(l_2))\}$$

$$= (A_{\zeta} + A_{\eta})(l).$$

Similarly, $(F_{\zeta} + F_{\eta})(l) \leq (F_{\zeta} + F_{\eta})(l)$.

(iii) Let
$$i=i_1+i_2$$
 where $i_1,i_2\in M$. Then $(l+i)\alpha m-l\alpha m=(l+i_1+i_2)\alpha m-(l+i_2)\alpha m+(l+i_2)\alpha m-l\alpha m$.
$$(B_{\zeta}+B_{\eta})((l+i)\alpha m-l\alpha m)\\ =\sup \{\min [B_{\zeta}((l+i_1+i_2)\alpha m-(l+i_2)\alpha m),B_{\eta}((l+i_2)\alpha m-l\alpha m)]\}\\ \geq\sup \{\min [B_{\zeta}(i_1),B_{\eta}(i_2)]\}\\ =(B_{\zeta}+B_{\eta})(i).\\ (A_{\zeta}+A_{\eta})((l+i)\alpha m-l\alpha m)\\ =(A_{\zeta}+A_{\eta})\{(l+i_1+i_2)\alpha m-(l+i_2)\alpha m+(l+i_2)\alpha m-l\alpha m\}\\ =\sup \{\min [A_{\zeta}((l+i_1+i_2)\alpha m-(l+i_2)\alpha m),A_{\eta}((l+i_2)\alpha m-l\alpha m)]\}\\ \leq\sup \{\min [A_{\zeta}((l+i_1+i_2)\alpha m-(l+i_2)\alpha m),A_{\eta}((l+i_2)\alpha m-l\alpha m)]\}\\ \leq\sup \{\min [A_{\zeta}(i_1),A_{\eta}(i_2)]\}\\ =(A_{\zeta}+A_{\eta})(i).\\ \text{Similarly, }(F_{\zeta}+F_{\eta})((l+i)\alpha m-l\alpha m)\leq (F_{\zeta}+F_{\eta})(i).\\ \text{(iv) Put }m=m_1+m_2;m_1,m_2\in M.\text{ Then}\\ (B_{\zeta}+B_{\eta})(l\alpha m)=(B_{\zeta}+B_{\eta})(l\alpha (m_1+m_2))\\ =(B_{\zeta}+B_{\eta})(l\alpha m_1+l\alpha m_2)\\ =\sup \{\min [B_{\zeta}(l\alpha m_1),B_{\eta}(l\alpha m_2)]\}\\ \geq\sup \{\min [B_{\zeta}(l\alpha m_1),B_{\eta}(l\alpha m_2)]\}\\ \geq\sup \{\min [B_{\zeta}(l\alpha m_1),A_{\eta}(l\alpha m_2)]\}\\ \leq\sup \{\min [A_{\zeta}(l\alpha m_1),A_{\eta}(l\alpha m_2)]\}\\ \leq\sup \{(A_{\zeta}+A_{\eta})(l\alpha m_1),A_{\eta}(l\alpha m_2)]\}$$

$$\begin{split} B_{\zeta}: M \to [0,1], \ A_{\zeta}: M \to [0,1], \ F_{\zeta}: M \to [0,1] \\ B_{\eta}: M \to [0,1], \ A_{\eta}: M \to [0,1] \ \text{and} \ F_{\eta}: M \to [0,1] \\ B_{\zeta}(0) = 0.7 \ A_{\zeta}(0) = 0.02 \ F_{\zeta}(0) = 0.02 \\ B_{\zeta}(a) = 0.05 \ A_{\zeta}(a) = 0.6 \ F_{\zeta}(a) = 0.03 \\ B_{\zeta}(b) = 0.05 \ A_{\zeta}(b) = 0.6 \ F_{\zeta}(b) = 0.3 \end{split}$$

$$B_{\zeta}(c) = 0.05 \ A_{\zeta}(c) = 0.6 \ F_{\zeta}(c) = 0.3$$

and,

$$B_{\zeta}(0) = 0.5 \ A_{\zeta}(0) = 0.2 \ F_{\zeta}(0) = 0.2$$

 $B_{\zeta}(a) = 0.4 \ A_{\zeta}(a) = 0.3 \ F_{\zeta}(a) = 0.3$
 $B_{\zeta}(b) = 0.4 \ A_{\zeta}(b) = 0.3 \ F_{\zeta}(b) = 0.3$
 $B_{\zeta}(c) = 0.4 \ A_{\zeta}(c) = 0.3 \ F_{\zeta}(c) = 0.3$

The routine calculation shows that, ζ and η are picture fuzzy ideals of M. Now, for any $m, z \in M$,

$$\begin{split} B_{\zeta+\eta}(0) &= \bigvee_{0=m+z} \{ \min(B_{\zeta}(m), B_{\eta}(z)) \} \\ &= \bigvee \{ \min(B_{\zeta}(0), B_{\eta}(0)), \min(B_{\zeta}(a), B_{\eta}(a)), \min(B_{\zeta}(b), B_{\eta}(b)), \\ &\qquad \qquad \min(B_{\zeta}(c), B_{\eta}(c)) \} \\ &= \bigvee \{ 0.5, 0.05, 0.05, 0.05 \} \\ &= 0.5 \end{split}$$

$$\begin{split} B_{\zeta+\eta}(a) &= \bigvee_{a=m+z} \{ \min(B_{\zeta}(m), B_{\eta}(z)) \} \\ &= \bigvee \{ \min(B_{\zeta}(0), B_{\eta}(a)), \min(B_{\zeta}(a), B_{\eta}(0)), \min(B_{\zeta}(b), B_{\eta}(c)), \\ &\qquad \qquad \min(B_{\zeta}(c), B_{\eta}(b)) \} \\ &= \bigvee \{ 0.4, 0.05, 0.05, 0.05 \} \\ &= 0.4. \end{split}$$

$$\begin{split} B_{\zeta+\eta}(b) &= \bigvee_{b=m+z} \{ \min(B_{\zeta}(m), B_{\eta}(z)) \} \\ &= \bigvee \{ \min(B_{\zeta}(0), B_{\eta}(b)), \min(B_{\zeta}(b), B_{\eta}(0)), \min(B_{\zeta}(a), B_{\eta}(c)), \\ &\qquad \qquad \min(B_{\zeta}(c), B_{\eta}(a)) \} \\ &= \bigvee \{ 0.4, 0.05, 0.05, 0.05 \} \end{split}$$

$$\begin{split} B_{\zeta+\eta}(c) &= \bigvee_{c=m+z} \{\min(B_{\zeta}(m), B_{\eta}(z))\} \\ &= \bigvee \{\min(B_{\zeta}(0), B_{\eta}(c)), \min(B_{\zeta}(c), B_{\eta}(0)), \min(B_{\zeta}(a), B_{\eta}(b)), \end{split}$$

$$\min(B_{\zeta}(b), B_{\eta}(a))$$

$$= \bigvee \{0.4, 0.05, 0.05, 0.05\}$$
$$= 0.4,$$

$$\begin{split} A_{\zeta+\eta}(0) &= \bigwedge_{0=m+z} \{ \max(A_{\zeta}(m), A_{\eta}(z)) \} \\ &= \bigwedge \{ \max(A_{\zeta}(0), A_{\eta}(0)), \max(A_{\zeta}(a), A_{\eta}(a)), \max(A_{\zeta}(b), A_{\eta}(b)), \\ & \max(A_{\zeta}(c), A_{\eta}(c)) \} \\ &= \bigwedge \{ 0.2, 0.6, 0.6, 0.6 \} \\ &= 0.2. \end{split}$$

$$\begin{split} A_{\zeta+\eta}(a) &= \bigwedge_{a=m+z} \{ \max(A_{\zeta}(m), A_{\eta}(z)) \} \\ &= \bigwedge \{ \max(A_{\zeta}(0), A_{\eta}(a)), \max(A_{\zeta}(a), A_{\eta}(0)), \max(A_{\zeta}(b), A_{\eta}(c)), \\ &\qquad \qquad \max(A_{\zeta}(c), A_{\eta}(b)) \} \\ &= \bigwedge \{ 0.3, 0.6, 0.6, 0.6 \} \\ &= 0.3, \end{split}$$

$$\begin{split} A_{\zeta+\eta}(b) &= \bigwedge_{b=m+z} \{ \max(A_{\zeta}(m), A_{\eta}(z)) \} \\ &= \bigwedge \{ \max(A_{\zeta}(0), A_{\eta}(b)), \max(A_{\zeta}(b), A_{\eta}(0)), \max(A_{\zeta}(a), A_{\eta}(c)), \\ &\qquad \qquad \max(A_{\zeta}(c), A_{\eta}(a)) \} \\ &= \bigwedge \{ 0.3, 0.6, 0.6, 0.6 \} \\ &= 0.3, \end{split}$$

$$\begin{split} A_{\zeta+\eta}(c) &= \bigwedge_{c=m+z} \{ \max(A_{\zeta}(m), A_{\eta}(z)) \} \\ &= \bigwedge \{ \max(A_{\zeta}(c), A_{\eta}(0)), \max(A_{\zeta}(0), A_{\eta}(c)), \max(A_{\zeta}(a), A_{\eta}(b)), \\ &\qquad \qquad \max(A_{\zeta}(b), A_{\eta}(a)) \} \\ &= \bigwedge \{ 0.6, 0.3, 0.6, 0.6 \} \\ &= 0.3, \end{split}$$

$$\begin{split} F_{\zeta+\eta}(0) &= \bigwedge_{0=m+z} \{ \max(F_{\zeta}(m), F_{\eta}(z)) \} \\ &= \bigwedge\{ \max(F_{\zeta}(0), F_{\eta}(0)), \max(F_{\zeta}(a), F_{\eta}(a)), \max(F_{\zeta}(b), F_{\eta}(b)), \\ \max(F_{\zeta}(c), F_{\eta}(c)) \} \\ &= \bigwedge\{0.2, 0.3, 0.3, 0.3 \} \\ &= 0.2, \end{split}$$

$$F_{\zeta+\eta}(a) &= \bigwedge_{a=m+z} \{ \max(F_{\zeta}(m), F_{\eta}(z)) \} \\ &= \bigwedge\{ \{0.3, 0.3, 0.3, 0.3, 0.3 \} \\ &= 0.3, \end{split}$$

$$F_{\zeta+\eta}(b) &= \bigwedge_{b=m+z} \{ \max(F_{\zeta}(m), F_{\eta}(z)) \} \\ &= \bigwedge\{ \{0.3, 0.3, 0.3, 0.3, 0.3 \} \\ &= 0.3, \end{split}$$

$$F_{\zeta+\eta}(b) &= \bigwedge_{b=m+z} \{ \max(F_{\zeta}(m), F_{\eta}(z)) \} \\ &= \bigwedge\{ \{0.3, 0.3, 0.3, 0.3, 0.3 \} \\ &= 0.3, \end{split}$$

$$F_{\zeta+\eta}(c) &= \bigwedge_{c=m+z} \{ \max(F_{\zeta}(m), F_{\eta}(z)) \} \\ &= \bigwedge\{ \{0.3, 0.3, 0.3, 0.3, 0.3 \} \\ &= 0.3, \end{split}$$

$$F_{\zeta+\eta}(c) &= \bigwedge_{c=m+z} \{ \max(F_{\zeta}(m), F_{\eta}(z)) \} \\ &= \bigwedge\{ \{0.3, 0.3, 0.3, 0.3, 0.3 \} \\ &= 0.3, \end{split}$$

$$Therefore, B_{\zeta+\eta}(l) &= \begin{cases} 0.5: l = 0 \\ 0.4: \text{ otherwise.} \end{cases}$$

$$F_{\zeta+\eta}(l) = \begin{cases} 0.3: \ l = 0\\ 0.3: \ \text{otherwise.} \end{cases}$$

The routine calculation shows that, $\zeta + \eta$ is a picture fuzzy ideal of M.

Now we extend the above Theorem 3.2 to the sum of finite number of fuzzy ideals of a zero symmetric Γ -near-ring M.

Definition 3.6. Let M be a zero symmetric Γ-near ring and let $\zeta_1, \zeta_2, \ldots, \zeta_n$ be the picture fuzzy ideals of a Γ-near ring M. For any $l \in M$, put $S(l) = \min\{\zeta_1(l_1), \zeta_2(l_2) \ldots \zeta_n(l_n) : l = l_1 + l_2 + \cdots + l_n, \ l_i \in M, i = 1 \text{ to } n\}$. Define $(\zeta_1 + \zeta_2 + \cdots + \zeta_n)(l) = \sup S(l) = \sup \{\min(\zeta_1(l_1), \zeta_2(l_2), \ldots, \zeta_n(l_n)) : l = l_1 + l_2 + \cdots + l_n\}$.

Remark 3.1. Let $l = l_1 + l_2 + \cdots + l_n$. Consider a transposition of the indices (1, k), k > 1. Then

$$\begin{split} l &= l_1 + l_2 + \dots + l_{k-1} + l_k + l_{k+1} + \dots + l_n \\ &= y + l_k - m + l_1 + l_2 + \dots + l_{k-1} + l_{k+1} + \dots + l_n \\ & \text{(where } m = l_1 + l_2 + \dots + l_{k-1} \text{)} \\ &= (m + l_k - m) + z - z + l_1 + z + l_{k+1} + \dots + l_n \\ & \text{(where } z = l_2 + \dots + l_{k-1} \text{)} \\ &= l_k^{'} + z + l_1^{'} + l_{k+1} + \dots + l_n \text{ (where } l_k^{'} = m + l_k - m, \ l_1^{'} = -z + l_1 + z \text{)} \\ &= l_k^{'} + l_2 + \dots + l_{k-1} + l_1^{'} + l_{k+1} + \dots + l_n. \end{split}$$

Thus

 $\min\{\zeta_1(l_k'),\zeta_2(l_2),\ldots\zeta_{k-1}(l_{k-1}),\zeta_k(l_1'),\zeta_{k+1}(l_{k+1}),\ldots,\zeta_n(l_n)\} = \min\{\zeta_1(l_k),\zeta_2(l_2),\ldots,\zeta_{k-1}(l_{k-1}),\zeta_k(l_1),\zeta_{k+1}(l_{k+1}),\zeta_n(l_n)\} \in S(l).$

This is true for every transposition (i, j) of the indices. Since every permutation is a product of transpositions, then for any permutation $\begin{pmatrix} 1 & 2 & \dots & n \\ i_1 & i_2 & \dots & i_n \end{pmatrix}$ we have $\min\{\zeta_1(l_{i1}), \zeta_2(l_{i2}), \dots, \zeta_n(l_{in})\}$ belongs to S(l) for $l = l_1 + l_2 + \dots + l_n$. Hence $\zeta_1 + \zeta_2 + \dots + \zeta_n = \zeta_{i1} + \zeta_{i2} + \dots + \zeta_{in}$.

Theorem 3.7. Let M be a zero symmetric Γ -near ring. If $\zeta_1, \zeta_2, \ldots, \zeta_n$ are the picture fuzzy ideals of M, then $\zeta_1 + \zeta_2 + \cdots + \zeta_n$ is also a picture fuzzy ideal of M.

Proof. Put $\zeta = \zeta_1 + \zeta_2 + \cdots + \zeta_n$.

(i) Let $l = l_1 + l_2 + \dots + l_n$, $m = m_1 + m_2 + \dots + m_n$; $l_i, m_i \in M$, $i = 1, 2, \dots n$. Then $l - m = l_1 + l_2 + \dots + l_n - m_1 - m_2 - m_3 - \dots - m_n$. This can be expressed as $l - m = l'_1 - m'_1 + l'_2 - m'_2 + \dots + l'_n - m'_n$, where l'_i is a conjugate of l_i and m'_i is a conjugate of m_i . Therefore $l - m = (l'_1 - m'_1) + (l'_2 - m'_2) + \dots + (l'_n - m'_n)$. Which implies,

$$B_{\zeta}(l-m)$$

$$\begin{split} &= B_{\zeta}((l_1'-m_1') + (l_2'-m_2') + \cdots + (l_n'-m_n')) \\ &= \sup\{\min(B_{\zeta_1}(l_1'-m_1'), B_{\zeta_2}(l_2'-m_2'), \dots B_{\zeta_n}(l_n'-m_n'))\} \\ &\geq \sup\{\min(\min(B_{\zeta_1}(l_1'), B_{\zeta_1}(m_1')), \min(B_{\zeta_2}(l_2'), B_{\zeta_2}(m_2')), \dots \min(B_{\zeta_n}(l_n'), B_{\zeta_n}(m_n')))\} \\ &= \min\{\sup\{\min(B_{\zeta_1}(l_1'), B_{\zeta_2}(l_2'), \dots B_{\zeta_n}(l_n'))\}\}, \sup\{\min(B_{\zeta_1}(m_1'), B_{\zeta_2}(m_2'), \dots B_{\zeta_n}(m_n'))\} \\ &= \min\{\sup S(l), \sup S(m)\} \\ &= \min\{\sup S(l), B_{\zeta}(m)\}. \\ \\ A_{\zeta}(l-m) \\ &= A_{\zeta}\{(l_1'-m_1') + (l_2'-m_2') + \dots + (l_n'-m_n')\} \\ &= \sup\{\min(A_{\zeta_1}(l_1'-m_1'), A_{\zeta_2}(l_2'-m_2'), \dots, A_{\zeta_n}(l_n'-m_n'))\} \\ &\leq \sup\{\min(\max(A_{\zeta_1}(l_1'), A_{\zeta_1}(m_1'))), \max(A_{\zeta_2}(l_2'), A_{\zeta_2}(m_2')), \dots, \max(A_{\zeta_n}(l_n'), A_{\zeta_n}(m_n'))\} \\ &= \max\{\sup\{\min(A_{\zeta_1}(l_1'), A_{\zeta_2}(l_2'), \dots, A_{\zeta_n}(l_n'))\}\}, \sup\{\min(A_{\zeta_1}(m_1'), A_{\zeta_2}(m_2'), \dots, A_{\zeta_n}(m_n'))\} \\ &= \max\{\sup\{\min(A_{\zeta_1}(l_1'), A_{\zeta_2}(l_2'), \dots, A_{\zeta_n}(l_n'))\}\}, \sup\{\min(A_{\zeta_1}(m_1'), A_{\zeta_2}(m_2'), \dots, A_{\zeta_n}(m_n'))\} \\ &= \max\{A_{\zeta}(l), A_{\zeta}(m)\}. \\ \\ \text{Similarly, } F_{\zeta}(l-m) \leq \max\{F_{\zeta}(l), F_{\zeta}(m)\}. \\ \text{(ii) Let } l, m \in M \text{ and } l = l_1 + l_2 + \dots + l_n : l_i \in M, \ i = 1, 2, \dots, n. \\ \text{Then } m + l - m = m + l_1 + l_2 + \dots + l_n = m = y + l_1 - m + m + l_2 - m + m + l_3 - m + \dots + m + l_n - m. \text{ This implies that,} \\ B_{\zeta}(m+l-m) = B_{\zeta}(m+l_1-m+m+l_2-m+\dots+m+l_n-m) \\ &= \sup\{\min\{B_{\zeta}(l_1), B_{\zeta}(l_2), \dots, B_{\zeta}(l_n)\}\} \\ &= \sup\min\{B_{\zeta}(l_1), B_{\zeta}(l_2), \dots, B_{\zeta}(l_n)\}\} \\ &= \sup\min\{A_{\zeta}(m+l_1-m), A_{\zeta}(m+l_2-m), \dots, A_{\zeta}(m+l_n-m)\}\} \\ &\leq \sup\min\{A_{\zeta}(l_1), A_{\zeta}(l_2), \dots, A_{\zeta}(l_n)\}\} \\ &= \sup\min\{A_{\zeta}(l). \\ \\ \text{Slimilarly } F_{\zeta}(m+l-m) \leq F_{\zeta}(l). \\ \end{aligned}$$

(iii) Let $l, m, i \in M$ and $\alpha \in \Gamma$. And let $i = i_1 + i_2 + \dots + i_n$; $i_i \in M, i = 1, 2, \dots, n$. Which implies $l+i = (l+i_1+i_2+\dots+i_n)\alpha m - (i_2+i_3+\dots+i_n+l)\alpha m + (i_2+i_3+\dots+i_n+l)\alpha m - (i_3+i_4+\dots+i_n+l)\alpha m + (i_3+i_4+\dots+i_n+l)\alpha m - \dots - (i_n+l)\alpha m + \dots + (i_n+l)\alpha m$. Now,

$$= \sup S(m)$$

$$= B_{\zeta}(m).$$

$$A_{\zeta}(l\alpha m) = A_{\zeta}(l\alpha(m_1 + m_2 + \dots + m_n))$$

$$= A_{\zeta}(l\alpha m_1 + l\alpha m_2 + \dots + l\alpha m_n)$$

$$= \sup \{\min(A_{\zeta}(l\alpha m_1), A_{\zeta}(l\alpha m_2), \dots, A_{\zeta}(l\alpha m_n))\}$$

$$\leq \sup \{\min(A_{\zeta}(m_1), A_{\zeta}(m_2), \dots, A_{\zeta}(m_n))\}$$

$$= \sup S(m)$$

$$= A_{\zeta}(m).$$

Similarly $F_{\zeta}(l\alpha m) \leq F_{\zeta}(m)$. Hence B_{ζ} is a picture fuzzy ideal of M.

Definition 3.8. Let M be a zero symmetric Γ -near ring and $\zeta_1, \zeta_2, \ldots, \zeta_n$ be the picture fuzzy ideals of M. Then the sum $\zeta = \zeta_1 + \zeta_2 + \cdots + \zeta_n$ is said to be direct, if

$$\min\{(B_{\zeta_1} + B_{\zeta_2} + \dots + B_{\zeta_{i-1}} + B_{\zeta_{i+1}} + \dots + B_{\zeta_n}), B_{\zeta_i}\} = 0$$

$$\max\{(A_{\zeta_1} + A_{\zeta_2} + \dots + A_{\zeta_{i-1}} + A_{\zeta_{i+1}} + \dots + A_{\zeta_n}), A_{\zeta_i}\} = 0$$

$$\max\{(F_{\zeta_1} + F_{\zeta_2} + \dots + F_{\zeta_{i-1}} + F_{\zeta_{i+1}} + \dots + F_{\zeta_n}), F_{\zeta_i}\} = 0$$

Theorem 3.9. Let $M = M_1 \oplus M_2 \oplus \cdots \oplus M_n$ be the direct sum of Γ -near rings M_1, M_2, \ldots, M_n with left or right identity $e = (e_1, e_2, \ldots, e_n)$ and ζ be a picture fuzzy ideal of M. Then there exists picture fuzzy ideals $\zeta_1, \zeta_2, \ldots, \zeta_n$ of M such that $\zeta = \zeta_1 \oplus \zeta_2 \oplus \cdots \oplus \zeta_n$.

Proof. Let $l_i = (0, 0, \dots, 0, l_i, 0, \dots, 0)$ and $e_i = (0, 0, \dots, 0, e_i, 0, \dots, 0), \alpha \in \Gamma$. Then for $l = (l_1, l_2, \dots, l_n) = l_1 + l_2 + \dots + l_n$, we have

$$B_{\zeta}(l) = B_{\zeta}(l_1 + l_2 + \dots + l_n) \ge \min\{B_{\zeta}(l_1), B_{\zeta}(l_2), \dots, B_{\zeta}(l_n)\}.$$

$$A_{\zeta}(l) = A_{\zeta}(l_1 + l_2 + \dots + l_n) \le \max\{A_{\zeta}(l_1), A_{\zeta}(l_2), \dots, A_{\zeta}(l_n)\}.$$

$$F_{\zeta}(l) = F_{\zeta}(l_1 + l_2 + \dots + l_n) \le \max\{F_{\zeta}(l_1), F_{\zeta}(l_2), \dots, F_{\zeta}(l_n)\}.$$

But

$$B_{\zeta}(l_i) = B_{\zeta}(e_i \alpha l) \ge B_{\zeta}(l),$$

$$A_{\zeta}(l_i) = A_{\zeta}(e_i \alpha l) \le A_{\zeta}(l),$$

$$F_{\zeta}(l_i) = F_{\zeta}(e_i \alpha l) \le F_{\zeta}(l),$$

for i = 1, 2, ..., n. That is,

$$\min\{B_{\zeta}(l_1), B_{\zeta}(l_2), \dots, B_{\zeta}(l_n)\} \ge B_{\zeta}(l), \\ \max\{A_{\zeta}(l_1), A_{\zeta}(l_2), \dots, A_{\zeta}(l_n)\} \le A_{\zeta}(l), \\ \max\{F_{\zeta}(l_1), F_{\zeta}(l_2), \dots, F_{\zeta}(l_n)\} \le F_{\zeta}(l).$$

1248

Thus

$$B_{\zeta}(l) \leq \min\{B_{\zeta}(l_1), B_{\zeta}(l_2), \dots, B_{\zeta}(l_n)\},\$$

$$A_{\zeta}(l) \geq \max\{A_{\zeta}(l_1), A_{\zeta}(l_2), \dots, A_{\zeta}(l_n)\},\$$

$$F_{\zeta}(l) \geq \max\{F_{\zeta}(l_1), F_{\zeta}(l_2), \dots, F_{\zeta}(l_n)\}.$$

Define, $(B_{\zeta_i}, A_{\zeta_i}, F_{\zeta_i})$ on M by

$$\begin{split} B_{\zeta_i}(l) &= \begin{cases} B_{\zeta}(l) : l \in M_i \\ 0 : & \text{otherwise} \end{cases} \\ A_{\zeta_i}(l) &= \begin{cases} A_{\zeta}(l) : l \in M_i \\ 0 : & \text{otherwise} \end{cases} \\ F_{\zeta_i}(l) &= \begin{cases} F_{\zeta}(l) : l \in M_i \\ 0 : & \text{otherwise.} \end{cases} \end{split}$$

Hence $\zeta_1 \oplus \zeta_2 \oplus \cdots \oplus \zeta_n = \zeta$.

4. Conclusion

In this paper, we have introduced the concept on sum of picture fuzzy ideals of a Γ -near ring and the direct sum of picture fuzzy ideals of a Γ -near ring and investigated several properties. Also, the relations between sum and direct sum of picture fuzzy ideals of a Γ -near rings are also discussed. Further, this can extend to sum of anti picture fuzzy ideals of a Γ -near ring and the direct sum of anti picture fuzzy ideals of a Γ -near ring in future research work.

Conflicts of interest: The authors declare no conflict of interest.

Data availability: Not applicable

Acknowledgments: The authors wish to thank the referee, for the careful reading of the paper and for the helpful suggestions and comments.

References

- R. Biswas, Fuzzy subgroups and anti fuzzy subgroups, Fuzzy Sets and Systems 44 (1990), 121-124.
- S.M. Hong, Y.B. Jun and H.S. Kim, Fuzzy ideals in near-rings, Bulletin of Korean Mathematical Society 35 (1998), 455-464.
- Y.B. Jun, M. Sapanci and M.A. Ozturk, Fuzzy ideals in Gamma near-rings, Tr. J. of Mathematics 22 (1998), 449-459.
- K.H. Kim and Y.B. Jun, Anti fuzzy ideals in near rings, Iranian Journal of Fuzzy Systems 2 (2005), 71-80.
- 5. JDP Meldrum, Near-ring and their links with groups, pitman, Boston, 1985.
- J.N. Mordeson and D.S. Malik, Fuzzy commutative algebra, World Scientific publishing, 1998.

- P. Narasimha Swamy, A note on fuzzy ideals in near-rings, International Journal of Mathematical Sciences and Engineering Applications 4 (2010), 423-435.
- P. Narasimha Swamy K. Vijay Kumar and T. Nagaiah and T. Srinivas, Sum of fuzzy ideals of Γ-near rings, Annals of Fuzzy Mathematics and informatics 9 (4) (2015), 665-674.
- 9. Bh. Satyanarayana, Contributions to near-ring theory, Doctoral thesis, Nagarjuna University, 1984.
- 10. T. Srinivas, T. Nagaiah and P. Narasimha Swamy, Anti fuzzy ideals of Γ-near rings, Annals of Fuzzy Mathematics and informatics 3 (2012), 255-266.
- 11. L.A. Zadeh, Fuzzy sets, Inform and Control 8 (1965), 338-353.
 - **R. Hema** is working in Department of Mathematics, Annamalai University, Annamalai Nagar.Her research interests include fuzzy algebra and fuzzy matrix.

Department of Mathematics, Govt. Arts and Science College, Nagercoil-629 004. Department of Mathematics, Annamalai University, Annamalai Nagar-608 002, India. e-mail: hemadu75@gmail.com

D. Anitha alias Ponnammal currently pursuing Part time Ph.D. at Annamalai University, Annamalai Nagar. Her research interests include fuzzy algebra and fuzzy matrix.

Department of Mathematics, Annamalai University, Annamalai Nagar-608 002, India. e-mail: anithaaravi04@gmail.com

S. Anjal Mose is working in PG and Research Department of Mathematics, St. Joseph's College of Arts and Science (Autonomous), Cuddalore-607 001, Tamil Nadu, India. His research interests include fuzzy algebra, and fuzzy matrix and fuzzy topology.

PG and Research Department of Mathematics, St. Joseph's College of Arts and Science (Autonomous), Cuddalore-607 001, Tamil Nadu, India.

e-mail: ansalmose@gmail.com